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NSQF Level 4 New Syllabus

WORKSHOP CALCULATION & SCIENCE:

Unit 4: Mass, Weight, Volume and Density

Mass, volume, density, weight Related problems for
mass, volume, density, weight Work, power, energy, HP,
IHP, BHP and efficiency Potential energy, kinetic energy,
and related problems with assignment.

1: What is termed as the quantity of matter contained in
a body? fasit iz # fAfed uarf Bt AT B R BEA & ?

A : Density | g1cd

B : Volume | 3TId1

C: Mass | ggHT

D : Oific gravity | fafere 5

Ans:C

2 : What is the force with which a body is attracted by
the earth towards its centre? g€ ®IH IT g1 & 5194 BI
O gedt gRT 3197 g HF 3R 3MHvd gar 27

A : Mass | gIHT

B : Weight | HR

C: Volume | 3Tadqd

D : Density | ¥cd

Ans:B

3 : What is called mass per unit volume of a substances?
{4t uetef o1 gaAT Ufd 3TE 3 a1 hedTdT 87

A : Mass | AT

B : Weight | HR

C: Density | g1cd

D : Volume | 31T dd

Ans:C

4 : What is the density of aluminium? TegfAfiad &1
Tcd faar glar e ?

A:27g9/cm3

B:3.7g9/cm3

C:47g/cm3

D:57g/cm3

Ans: A

5: Wha is the mass if the density of a body is 7.6 g/cm3
and its volume is 25 cm3? Ifg Bt fis &1 e e 7.6
TTH/AHT3 8 3R 39T 3117a 25 3 2 A 3HBT SIAH HIT
EIT?

A :190 grams

B : 200 grams

C:210 grams

D : 220 grams

Ans: A

6 : What is the density (r) in g/cm3 of an iron cube, if it
weighs (W) 4.8 kg and volume (V) is 640 cm3?

e & T4 BT T (r) g/cm3 § T &, Al ST a3 (W)
4.8 a7 3R 31aH (V) 640 cm3 8?2

A:6.6 g/cm3

B:6.9g/cm3

C:729/cm3

D:75g/cm3

Ans:D

7 : What is the volume (V) of mercury in cm3, if mass (m)
of mercury is 1 kg and density (r) is 13.6 g/cm3?
URT &I ATAAT (V) cm3 § 347 &, IS IR BT gedd  (m) 1kg
& 3R = (1) 13.6 g/cm3 &7

A :7353 cm3

B:73.43cm3

C:7333cm3

D:73.23 cm3

Ans: A

8 : What is the mass in gram, if a force of 15 dyres acting
on a mass m producing an acceleration of 2.5 cm/sec2?
T A A T 8, IS TIHM m R BRf B3 d1etT 15
SIS BT I 2.5 AHY/ADb32 BT cROT 30 BdT 8?2

A :9 grams

B : 8 grams

C:7grams

D: 6 grams
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Ans:D

9 : What is the volume of mercury in cm3, if the mass (m)
of mercury is 136 grams (g) and density (r) of mercury is
13.6 g/cm3? QI3 H UR BT 31T &7 €, TS IR BT gaHH
(m) 136 UTH (@) & 3R IR &T T (r) 13.6 g/cm3 &?

A :136 cm3

B:13.6 cm3

C:10.6 cm3

D :10.0 cm3

Ans:D

10 : What is the block weighs (W) in kg, if volume (V) is
320 cm3 and density 8.9 g/cm3? afg 3M—IaT (V) 320 cm3
3R g 8.9 g/cm3 €, Al &1 &l a3 (W) fbat 7 aar
ET?

A :2948 kg

B :2.848 kg

C:2.648 kg

D : 2.448 kg

Ans:B

1 : What is the weight force of a car has a mass of 800
kg?(Take g = 9.81m/sec) T BR &I HR & fdsdT & fFaar
AT 800 fdUT 82(g = 9.81m/sec )

A : 7848 Newton

B : 7748 Newton

C:7847 Newton

D : 7487 Newton

Ans: A
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12 : What is the work done in unit time? | B% S®Ts 99T #
fasar T &rf e gar 8?2

A : Energy | 3311

B : Power | 2Ifdh

C: Force | €T

D : Acceleration | &@RUT

Ans:B

13: What is the capacity of a body to do work is called? |
HHt T Bl BRI B Pt & dT B KT Bed 82

A : Energy | 331f

B : Power | 2Ifdh

C : Acceleration | TRUT

D: Force | dlel

Ans: A

14 : What is the ratio of power output to power input ? |
2Ifth 31m3eYe 3R 2Ifth $7YC I 31UTd T EraT 87

A : Work | &1

B: Energy | 3311

C : Efficiency | q&Idl

D : Acceleration | cRUT

Ans:C
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15 What is called if a force of INewton acts on a body

and moves it through a distance of 1 metre ? | If¢ T®

YA BT el Bt a¥g R B BT 8 3R 38 U HieX bt gt
ad galTd! (GBI 8, al 39 a1 ded 8?

A:1Joule | 15[cT

B: 10 Joules | 10 5[cT

C :1dyne | 13189

D : 10 dynes | 10 T84

Ans:A

16 : How many ergs for 1 Joule ? | 15c1 & &d 3774 81 €2
A:103 ergs | 103 37779

B: 105 ergs | 105 3779

C : 107 ergs | 107 37fq

D : 109 ergs | 109 37°fq

Ans:C

17 How many newtons for 1kilogram? | 1 fdelluTd & daa
A Ed &2

A : 981 Newtons | 981 =cT

B: 98.1 Newtons | 98.1 <cq

C:9.81 Newtons | 9.81~cq

D : 0.981 Newtons | 0.981 =cd

Ans: C

18 How many watts for 1 horse power in metric system ?
| Af¢s Twen § 1 81 UTeR ® - a1eq g1d 87

A : 7255 watts | 725.5 d1¢H

B : 735.5 watts | 735.5 dIcH

C: 745.5 watts | 745.5 dicH

D : 755.5 watts | 755.5 dIcH

Ans:B

19 How many watts for 1 horse power in British system ?
| fsiféer a%eq ®, 1 87 UTeR ® &a areg 81d &2

A : 726 watts | 726 dicH

B : 736 watts | 736 dicH

C:746 watts | 746 dicH

D : 756 watts 756 dIcH

Ans: C

20 : What is the equivalent unit for thorse power in
metric system? [§&H H T ¥ UTeR Pt AGe SbTs T
e

A : 75 kg.m/sec | 75 &UT. Ht/AB0S

B : 76 kg.m/sec | 76 HUT. Ht/qbUs

C : 77 kg.m/sec | 77 BT, H/Aw03

D : 78 kg.m/sec | 78 &IT. Hl/qbUs

Ans: A

21: What is the formula for potential energy? | feifdst
3311 BT A T &2

A : mgh joule | mgh 5T

B : mgh2 joule | mgh2 5[cT

C:1/2 mgh joule | 1/2 mgh 5[

D : 2/3 mgh joule | 2/3 mgh 5fcT

Ans: A

22 : What is the formula for kinetic energy? | 7fast 331f
BT YA RIT8?

A 1/2 mv joule | 1/2 mv 5cT

B 1/2 mv2 joule | 1/2 mv2 Jel 5{cT

C:2/3mv2 joule | 2/3 mv2 5[cT

D:2/3mv joule | 2/3 mv 5fcT

Ans:B

23 : How much work done in one hour, if a pump can
raise 100 liters of water through a height of 200 meters

in one minutes? | B Tve ¥ fdoaT1 ®rf 8T €, afg v uu
T fAre ® 200 Hiex HaTE ddb 100 oitex UT 35T TepaT 22
A : 12 x 104 kg meter | 12 x 104 kg fasuT Htex

B : 12 x 105 kg meter | 12 x 105 kg fasum Htex

C : 12 x 106 kg meter | 12 x 106 kg fdsaT Hlex

D : 12 x 107 kg meter | 12 x 107 kg fasa Htex

Ans:B
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24 What is the work done, if a force of 250 newtons
acted upon a body and the body has been moved
through a distance of 15 metres? | ¢ 250 e I b
BT I¥g W BT PIAT & 3R a¥] 15 Hik HI gt deb Iedl &,
A BT B BT 8?2

A: 3720 Joules

B: 3730 Joules

C 3740 Joules

D: 3750 Joules

Ans:D

25 What is the potential energy, if a body of mass 250
kg is at a height of 30 metre? | afE 250 HIUT GIHM Bt
THag 30 Hiek Bt Hard R |, dt {&Afdst Hif ot @it &2
A:7257KJ

B: 73.57 KJ

C:74.57 KJ

D: 75.57 KJ

Ans:B

26 What is the potential energy in a body of mass 10 kg
kept on the top of a pole 20 metres height? GIHT &t
T I 20 Hiex B 35a1E S Nt B HWR AT 1T 2, Y
fefdst &H3f wadt gnit?

A:1942 Joules | 1942 511

B : 1952 Joules | 1952 5feT

C:1962 Joules | 1962 5feT

D :1972 Joules | 1972 5{cT

Ans: C

27 : What is the work done in joules if a load of 15.5 kg is
lifted through a height of 4.4 metres? | Ifg &t 15.5 AT

& WR P 4.4 TR FaTE b 3571 ST &, A ST & BT B
Bare?

A : 639 Joules | 639 51

B : 649 Joules | 649 51

C: 659 Joules | 659 5T

D : 669 Joules | 669 5]cT

Ans:D

28 What is the kinetic energy of a bullet of mass 5gm
travels with a speed of 500 m/sec? | B 5 UTH GAHT Bl
oI 511 P 500 Hie? / Apus &bt Tt @ Terdt g, dt 71fdst Haf
&1 Bt 82

A : 620 Joules | 620 511

B: 625 Joules | 625 5f¢T

C: 630 Joules | 630 5feT

D : 635 Joules | 635 5[cT

Ans:B
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